


Question11- The simple interest of a 
sum if Rs 1500 less than the sum. If 
rate is 15% per annum and time is 5 
years then find principal.

प्रश्न 11- यदि दिसी राशि िा साधारण ब्याज, 
राशि से 1500 रुपये िम ह।ै यदि िर 15% प्रशि 
वर्ष ह ैऔर समय 5 वर्ष ह ैिो मूलधन ज्ञाि 
िीशजये।

A.Rs 3000

B.Rs 2000

C.Rs 4000

D.Rs 5000

E.None of 

these





•BASIC CONCEPT
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Question 1- Find the compound interest 
on a sum of Rs 20,000 at 10% per 
annum for 2 years?

प्रश्न 1- 20,000 रुपये िी राशि पर 2 वर्ों िे शलए 
10% प्रशि वर्ष िी िर से चक्रवृशि ब्याज ज्ञाि 
िीशजये? A.Rs 3200

B.Rs 3300

C.Rs 4200

D.Rs 4000

E.None of 

these





Question 2- Find the compound interest 
on a sum of Rs 30,000 at 20% per 
annum for 3 years?

प्रश्न 2- 30,000 रुपये िी राशि पर 3 वर्ों िे शलए 
20% प्रशि वर्ष िी िर से चक्रवृशि ब्याज ज्ञाि 
िीशजये? A.Rs 22000

B.Rs 20000

C.Rs 21000

D.Rs 21840

E.None of 

these



Question 3- Find the compound interest 
on a sum of Rs 50,000 at 40% per 

annum for 1
1

2
years when interest 

compounded half yearly?

प्रश्न 3- 50,000 रुपये िी राशि पर 11/2 वर्ों िे 
शलए 40% प्रशि वर्ष िी िर से चक्रवृशि ब्याज ज्ञाि 
िीशजये जब ब्याज अधषवार्र्षि रूप से संयोशजि 
होिा ह?ै

A.Rs 9930

B.Rs 9900

C.Rs 9000

D.Rs 8000

E.None of 

these



Question 4- Find the compound interest 
on a sum of Rs 32,000 at 20% per 
annum for 9 months  when interest 
compounded quarterly?

प्रश्न 4- 32,000 रुपये िी राशि पर 9 महीनों िे 
शलए 20% प्रशि वर्ष िी िर से चक्रवृशि ब्याज ज्ञाि 
िीशजये जब ब्याज त्रैमाशसि रूप से संयोशजि होिा 
ह?ै

A.Rs 18000

B.Rs 10000

C.Rs 8000

D.Rs 12000

E.None of 

these



Question 5- The difference between 
simple interest and compound interest on 
a certain sum of money for two years with 
10% per annum is Rs 400. Find the 
principal?

प्रश्न 5- एि शनशिि धनराशि पर 10% प्रशि वर्ष िी 
िर से िो वर्ों िे शलए साधारण ब्याज और चक्रवृशि 
ब्याज िे बीच िा अंिर 400 रुपये ह।ै मूलधन िा
ज्ञाि िरें?

A.Rs 20,000

B.Rs 30,000

C.Rs 15,000

D.Rs 40,000

E.None of 

these



Question 5- The difference between 
simple interest and compound interest on 
a certain sum of money for 3 years with 
20% per annum is Rs 2560. Find the 
principal?

प्रश्न 5- एि शनशिि धनराशि पर 20% प्रशि वर्ष िी 
िर से िीन वर्ों िे शलए साधारण ब्याज और 
चक्रवृशि ब्याज िे बीच िा अंिर 2560 रुपये ह।ै 
मूलधन िा ज्ञाि िरें?

A.Rs 20,000

B.Rs 30,000

C.Rs 15,000

D.Rs 40,000

E.None of 

these



Question 6- A certain sum of money with a 
certain rate of simple interest becomes doubles 
of itself in 6 years. In how much time it 
becomes 16 times of itself?

प्रश्न 6- साधारण ब्याज िी एि शनशिि िर िे साथ एि 
शनशिि धनराशि 6 वर्ों में अपने आप िी िोगुनी हो जािी 
ह।ै दििने समय में यह अपने आप िा 16 गुना हो जािा ह?ैA.20 years

B.24 years

C.30 years

D.18 years

E.None of 

these




